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ZD AN = the woman + H' <subject particle> /

Hco TULWOA ERRS

FTUWRLTF D {bE|lc DU\ T = about (regarding, concerning) the project of a new product

(manufactured goods, finished goods) /

e V&

B DA & = with the man /

(&7

LT WETJ, =be talking (speaking) now
(372

*5E U F 9 g1 = speak, talk
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

The woman is talking about the project of a new product with the man.

BARR D&

ZZMD A& = the woman + & <topic particle> /

D & & = after this conversation /

?ELJ%E = what + %Z <direct-object particle> /

Uil niE &b £ A D = must do, have to do + H <question particle>
* [conditional-negative] 7& D ¥+ A = must do ~, have to do ~

What must the woman do after this conversation?

Y must drink, have to drink
DFEBRIFNIEBRODFEEA
DF RIFNIE WIFEEA
DEGLLEL BODEREA
DEHL<EL WIEEA
DX BZE» BDEEA
DERBREr WIEEA
DEHNEIZD FHA
DX BZWE WIFEREA

F4&R. = section manager, section chief /



» 7 HwE 2 <L& .
BEH®D &&D {BEZE. = the proposal for tomorrow’s meeting /

H

BT Wi fe TU & 5H% =You saw, and could | receive a favor from you?

* W/ 21 7= = could receive = <plain-style-past-affirmative> of L\ /7217 £ 9 (can receive,
be able to receive) which is the potential-verb of W /z72Z £ 9 g1 ([Inferior] receive ...

[ from Superior] )
* [plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] T U & S A" is more polite

than the question which ends the normal polite-style, and is often used when you question
your superior. //

Section manager (section chief), did you see the proposal for tomorrow’s meeting?

M:

Sh. =Yes,/

%\75‘ N 9 < = adverbial-form of %\b\ D 9 L) which is the plain-style of %\73\ D PIL
T9 (be easy to understand)

* [masu-form] ¥ 9 L\ CT9 = be easy to do ~

* [masu-form] I < LTI = be difficult to do ~ /

gﬂ%j:b“o T53= gﬁ%f:?b“o‘( L% = <plain-style-nonpast-affirmative> of gﬂ%f:?b“a?
LW X 9 = have already completed, have already finished, be ready now

* éﬁ%fmm &9 g1 = complete, be finished, be ready

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
o =....,isn'tit? ;....., am | right? //

Yes, (I saw it.) It has completed in a easy-to-understand manner.

F BOHE .
%\ ﬁ%&j c__’l‘éb\i_é_o =
Oh, thank you very much.

12, =1 but, however, nevertheless 2 free of charge /
>

% (3 = as a matter of fact, in fact, to tell the truth /

TWOA oLy

B D FEAANY = the explanation of a product + A <subject particle> /
5& o> & =alittle/

el el

59\L\ = <plain-style-nonpast-affirmative> of §5L\"C39 = be weak /



73 = [[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] D& = ...... |

wonder?
3T & = <quotation particle>

t XoT 3 /u‘(? —»Lc_ 22T Wb ATY =(X)is worried about ~
g KU E>T % = _\,L 7% > T L3 = <plain-style-nonpast-affirmative> of —w moTW
&9 = be worried about ~
- C 72D ¥ 9 = worry, be worried about, be concerned about, weigh heavy on one’s

mind, bother
h'. = <used to show a hesitation> //

But, to tell the truth, | worry that the explanation of the product is a little weak (not so
good).

—h. F5 £ 13, =uh, let me see.
* Z 312 12 = <plain-style-nonpast-affirmative> of =5 T3 13 = 1 Let me see (think). 21
agree with you. //

TH XH. =But, you might say /

Z OD%{KIK%H = this part + (& <topic particle> /

LVLY = <plain-style-nonpast-affirmative> of L\WL\T9 = (X) is good /

W73 = [[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] H\7& = ...... |

wonder. //

But, this part is OK, | wonder.

¢, =ifthatis the case, then/

A A &L =let me see, let me think /

ZDNR—ID Z 7, =this graph on the page eleven /

N, = thls this one /

T UVRA HUOJ = the one which was made quite a long time ago

2 = [na-adjective, noun] 7= = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T
9’ =is (are, am)

o =....,isntit?; ....., am | right? <confirmation particle> //

Then, let me see, regarding this graph on the page eleven, this is the one which was made
quite a long time ago, isn't it?



U . =if thatis the case, then /

%0) 72 71F =that graph + |& <topic particle> /

EFZTO = less polite than *éEZ_T < f2& W\ =please replace
* **z.i? = replace, exchange, interchange, substitute //

Then, please replace it.

&, =1/
FhhH 5, =1 after that 2and also/
MrWELD

REBEEQ/NNVIAPXATID E{}—Li = the preparation for a computer and a mike at the
meeting room + (& <topic particle> /
TZET % = TET L% = <plain-style-nonpast-affirmative> of T= T LWX T = have

already completed, have already finished, be ready now
* TZ X9 sg2=1cando, be ableto do 2 be ready, be completed, be finished

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

Have you already prepared a computer and a mike at the meeting room?
Are a computer and a mike at the meeting room ready now?

%5 5 =1 <more polite than> Z 11 (that) 2 <more polite than> = Z (there) 3 that way
<direction> + & <topic particle>/

WL &58

ALK TT, =(X)is all right (O.K., fine, good, alright). //

Those things are ready now.



H [za
* B % = <plain-style-nonpast-affirmative> of 2 &9 g2 = show //

2

TWOA ToHL h

BGOD FEA% E%"E‘@“ (The woman) rewrites the explanation of the product.

BE " BE

* ééﬁﬁ <plain-style-nonpast-affirmative> of i%"ﬁ L &9 g1 =rewrite //

3
HlcH
T—5 % %)% L < 9% = (The woman) renews the data.
*#1 U < 9% = <plain-style-nonpast-affirmative> of 7L < U %9 g3 = make ~ new
* (A) % [stem of i-adjective] < UL X T, (A) Z [stem of na-adjective] IC L ¥J = make (A)

[adjective]
*(A) %Z [noun] I U ZE 9 = make (A) [noun] //

4
U AU
JXY Q> % #4595 = (The woman) prepares a computer

U

* #{m9 % = <plain-style-nonpast-affirmative> of Efl‘ L &9 g3 = prepare //

fEnhHi<
KZET = at the university /

Eo Okb?h <EW BAEW
B0 BZF 4 & AN = a male overseas student and a teacher + 5Y <subject particle> /

37

#E LT WX, =be speaking now, be talking now

1373

*5&H U £ 9 g1 =speak, talk
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

At the university, a male overseas student and a teacher are talking together.

D %) L’ after this conversation /

%% = what + %Z <direct-object particle> /

Uil niE &b £ A D = must do, have to do + H <question particle>
* [conditional-negative] 7& D ¥+ A = must do ~, have to do ~

What must a male overseas student do after this conversation?



M:

BAEW

JEE. =Sir,/

g‘/ﬁwﬁ = the other day, a few days ago /

o) %b L %% T A =regarding the thesis which | passed over

*& E U U = passed over = <plain-style-past-affirmative> of & JEL U X9 g3 (pass
over) which is the humble-verb of JE L &9 g1 (pass over, hand over)

* 5@ = thesis, research paper written by a candidate for an academic degree, treatise,

essay, paper /
WA TU Tz D =how was (X)? //

Sir, regarding the thesis which | passed you the other day, how was it?

F:
» . = 0h, yeah,

P
B F U = (X) saw (looked, watched) /
&Ko =...., you know?; ..... | tell you. ; ....., | am convinced. //

Oh, yeah, | saw it, you know?

gho . .
B[D] = last time, last session /

%7‘: E%at\ = when (X) saw + & <topic particle>

* %TC = saw = <plain-style-past-affirmative> of %i"é’ sg2 (see, look, watch)

* [plain-style (but, ‘da’ of {[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’
respectively.)] & & =when (X) do (did, is doing, was doing, etc) ~ //

gﬁi”n’%) %“\%O) & I3 Y =the part of the background of the study (research, investigation)
+ M’ <subject particle> /

%b‘vl’j%\\h = insufficient, inadequate, imperfect, shortage /

2 - Iz = [na-adjective, noun] 72 o = = (X) was ~ = <plain-style-past-affirmative> of ‘[na-
adjective, noun] T3’ =is (are, am)

[7E. =but, //

When | saw your thesis last time, the part of the background of your study was imperfect,



12U\ 3 = considerably, greatly, a lot /
K< Eofz A U7y = (X) became better, don’t you think so? (, | want to confirm with

you.), | wonder.
* 7& o fc = became = <plain-style-past-affirmative> of = 78D £9 g1 (become)

* A U 720 = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A U ¥ 7%
L\ = <plain-style>of .... L U» D XEAD =....., | wonder, don’t you think so? ; ....., |
wonder, | want to confirm with you — A can be changed to @. U + can be changed to
=

MU 5, =|[plain-style (‘da’in [na-adjective / noun] da’ must be omitted.)] ™UL 5 =1
wonder ~ <used by women>

that part become considerably better this time, | wonder, | want to confirm with you.

F:
BAZwS  FELFn
R D EEH = the back ground of the study + h' <subject particle> /

> £ < = 1 skillfully, ably, knowingly, masterly, like an expert, well, cleverly, aptly 2

deliciously
* 5 F W =1 skillful 2 delicious /

X & ¥ o 7z = was collected, got together = <plain-style-past-affirmative> of F&FXD ¥

g1 (be collected, be in order, get together, congregate) /
M5 f2 = <plain-style-nonpast-affirmative> of 15 T9 = because ~ /

& <quotation particle> /

&b

BWZET g1 =think/

[7E. =1but 2 <used to show a hesitation> //

| think that (it became better) because the background of my study was in order skillfully,
but

wﬁf%ﬁé@% = study purpose (goal, aim, objective) also /
%ﬁ@ %U%%Ji D =than the previous manuscript /

g)é%é = definiteness, clearness, lucidity

* g)%%é@ = determinate, fixed, definite, established /



Iic /

74 o fc = became = <plain-style-past-affirmative> of 7& D 9 g1 (become)
t <quotation particle> /

/L,\\J\i-g_o = | think ~ //

| think that the purpose of my study became clearer than that of my previous manuscript.

TH. =But/

54£5 13 >

ZDRED %*%U) & Z 3. =this part of the result of the investigation (examination,

|an|ry, survey) /
55 ’J\b a little more /

S5 HhTE

SHERMIIC = effectively, efficiently

\I-

X
* SWERMY = effectiveness, efficiency
* SRR = effective, efficient /
;_Tiitt% & 21, =so that (X) can show

%ﬁ)\t*é <pla|n style-nonpast-affirmative> of /T\'l?fiﬁ' (can show) which is the potential-
verb of 7_1"\ LU £9 g2 (denote, show, point out, indicate)
* [dictionary-from / nai-form] & 3 [C = so that (X) do / don’t do ~ <the potential-verb is

often used for this expression) /
7 —% %= data + & <direct-object particle> /

4
X 22 7 T = by (means of) an illustration (figure, drawing, picture), a graph, etc. /
H5bH

xUES £5 HU S, =Why don’t you express, | wonder? ; Why don’t we express, |

wonder? ; How about expressing, | wonder? | suggest to you that you should express, |
wonder.

* %i fc = <plain-style-past-affirmative> of % b X9 g1 (express, reveal, show, exhibit)

* [plain-style-past] 5 &5 T9Hs =Whydon’t you do ~? ; Why don’t we do ~? ; How
about doing ~? ; | suggest to you that you should do ~. <suggestion>

*HhU 5, =][plain-style (‘da’in [na-adjective / noun] da’ must be omitted.)] 1»U 5 =1

wonder ~ <used by women> //

why don’t you express the date with an illustrate and a graph?



M:
$Hdb. 1851FE, =0h, | see. That's right. Indeed. //

%2791, =1Letme see (think). 2 1agree with you. /

F:

%> L7 [E5 hY = (X) had better do it because ~ &
* U fc = <plain-style-past-affirmative> of U &9 g3 (do)
* [ta-form] (¥5 HY LWWT T = had better do ~

* [ta-form] (¥ A + [sentence] = had better do ~ because [sentence] &
Eo&<h&<
RS 1D = persuasive power + H¥ <subject particle> /

i%@“ = <plain-style-nonpast-affirmative> of i% L &9 g1 =increase/
¢ <quotation particle> /

BWET = | think ~ /

&Ko =...., you know? ; ..... [ tell you. ; ....., | am convinced. //

| think that you had better do it because the persuasive power will increase more.

PPo>T HEJ, =ltrytodo
*PDXF =1do 2 (superior) give (inferior)
* [te-form] & E 9 = try to do ~, do ~ and see how //

ZFh Hh 5. = after that, and, also /

bW

Bi[E] = last time, lest session /
LTE

C$E#% = pointing out (identification, indicating) + % <direct-object particle>
2} fc = received, accepted = <plain-style-past-affirmative> of 523 & 9 g2 (receive,

(= BAESTE 50 . .
HAED ARG EE L = grammatical mistakes of the Japanese language /



— the grammatical mistakes of my Japanese language which you pointed out last time
[CDWT & = about (regarding, concerning) ~ + (& <topic particle> //

And, how about the grammatical mistakes of my Japanese language which you pointed
out last time?

F:

&HdH. =0h,/

%@I%I\Li = this time + & <topic particle> /

‘%t: = particularly, especially

’%LC mD X ATU, =dont worry, was not worried about, was not concerned about,

didn’t weigh heavy on one’s mind, didn’t bother //

Oh, it didn’t bother me in particular this time.

U +. =ifthatis the case, then/
9 < IT =instantly, immediately, at once, without delay, in a jiffy /

L SEL

{E1E U £ 9 g3 = modify, adjust, correct, make right //

Then, | will correct immediately.

FAZEwS  BLiFW

HED BEE%Z £ &3 = (The male overseas student) puts the background of the study

in oder.
* ¥ & 65 = <plain-style-nonpast-affirmative> of & & 6 9 g2 = put in order, collect,

bring to a conclusion //

2

FTAZ®S5HLTE HLH<
3T BE9% BEREIC 9 % = (The male overseas student) defines the purpose of the study.
HULH< HLH<

* BAHEIC I % = <plain-style-nonpast-affirmative> of BBHEIC U £ 9" g3 = define, clarify,
make clear //

3



5 U< TE

iz ‘Lf %7& HERIC /T\ = (The male overseas student) shows the result of the
|nvest|gat|on visually

Tx?' <plain-style-nonpast-affirmative> of T\ L ¥9 g2 = denote, show, point out,
indicate //

4
BRAIES
SED F'Eﬁx_b\ ’a’: ?“ = (The male overseas student) corrects the grammatical errors
(mistakes).

B B
* B9 = <plain-style-nonpast-affirmative> of iE U £ 9" g1 = heal, fix, correct, repair //

[ 37

B

MAEDL & <ARD

ﬁBEOD EITENEY). = decorative plant in the room /
RADN. = less polite than 7&EH = somehow, for some reason, without knowing why /

W hE
TTREW ATEs = (X) is not healthy, (X) is not fine, (X) is not cheerful
A=
* JTRE LY = <plain-style> of 71:—»(7’3\) % D £ A = be cheerless, be gloomy, be

depressing
* k12 = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun]

da’becomes ‘na’.)] AL T =...... , | wonder ; ...... , | doubt ; ....., | want to draw your
attention ; ....., | want to emphasize ; ....., | really want to say so ; because ...... — A can
be changed to @. //

The decorative plant in my room is not fine for some reason.| really want to say so.

A. =What? ; Really? (used to express surprise) /

5 v A & = properly, perfectly, exactly, correctly, well /
Zxa

7K = water /

* <We often leave out %Z (direct-object particle) in the plain-style sentence.>



PY>7T % =P>7T W5 =<plain-style-nonpast-affirmative> of > T LW\X 9 =1 be doing

now 2 be giving now
*PDEXF =1do 2 (superior) give (inferior)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
? = <We normally don’t use " for the plain-style question.> //

What? Do you water it properly?

ZhnhH. =well yes, actually, now that you mention it, well, in fact /
9< = immediately/
if:n 5927 = /M’LE »>5, £ULT, =toone’s regret (X) forget and
,L,\*LB ¥ S = <plain-style-nonpast-affirmative> of /M’Lﬁzb\iﬁ" /uhT LEWET =

to one’s regret, (X) forget
* [te-form] L XWX 9 g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely

~te shimaimasu— ~chaimasu
*~de shimaimasu— ~jaimasu//

=
SHY DWWz 5,. =when | notice
KDY D\ fo = <plain-style-past-affirmative> of & h' D Z £9 g2 = notice, become

aware, perceive, realize recover consciousness, come to oneself
* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~

and | tell you what happened /

o5

T A = soil + H' <subject particle> /

NTZHZ 2T ZE=AFHT £EWD Z & =the fact that (X) is dried up (became dry, is

withered)
*(X) EWD (Y) =(Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement

the contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
& < = well, often /

3 % = <plain-style-nonpast-affirmative> of % D £ 9 g1 (there is ~, have, exist) /

A T2 = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] L T9=...... , | wonder ; ...... , | doubt ; .....,  want to draw your

attention ; ....., | want to emphasize ; ....., | really want to say so ; because ...... — A can

be changed to @. //



The fact that the soil is dried up when | notice (I forgot to water it) often happens.

HDE, =well,errrr.... & is like K (...., you know? ; ..... | tell you. ; ....., lam

convinced.), but it is always followed by the plain-style (but, ‘da’ in ‘[na-adjective, noun] da
must be left out.). /
ES S

Z M = some time ago, recently, lately /
Z1—AT =atthe news/
P > Tfc =¥ > 7T LW = was doing = <plain-style-past-affirmative> of > T WX (be

doing now)
*¥DFXI =1do 2 (superior) give (inferior)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>
* L IZ = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun]
da’becomes ‘na’.)] L T =...... , | wonder ; ...... , I doubt ; ....., | want to draw your
attention ; ..... , | want to emphasize ; ..... , | really want to say so ; because ...... — A can
be changed to @./

I7E. =1but 2 <used to show a hesitation> //

errr ...., you know? They were showing it at the news some time ago,
errr ..., you know? | saw it at the news some time ago,

EWHi< TAEwS
H3 KED HFK T, =in the study (research) of a certain university /

%%% DIFT =%&81%Z DlFfce LT, =named (gave a name) and ....

* ZHi% DI fc = named (give a name) = <plain-style-past-affirmative> of Z#i% D F &£
9 g2 (name, give a name)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’.
And it is sometimes used to show reason as well. “

%CT fc = raise, rear, bring up = <plain-style-past-affirmative> of %T X9 g2 (raise, rear,
bring up) /

Z,E = cow, cattle /

— the cow that they gave a name to and raised /

&, =and/

%%%75“ = name + H' <subject particle> /

7%\ ¥ X = without having ~

* 72U\ = don’t have = <plain-style-nonpast-negative> of &% D £3 g1 (there is ~, have,

exist) /
* [nai-form] & & = don’t do ~ and remains in that situation, without doing ~



* [ta-form] & F = with ~, while ~, as ~ <used to show that an already existing situation
remains unchanged> /

Z’C fc =raise, rear, bring up = <plain-style-past-affirmative> of ﬁ Ti@' g2 (raise, rear,
bring up) /

ZFb = cow, cattle /

— the cow that they raised without giving a name

D <posseSS|on particle> /

ILTD ;':E.jj‘%i = the way that milk comes out, how milk comes out + % <direct-object

particle>

* (A) @ [masu-form] H 7z = how to do (A), the way of doing (A), the way that (A) do, how
(A)do/

(2=}

.Jﬁ Nfz5 = (X) examined and | tell you what happened

* uﬂ’\ﬁ_ = <plain-style-past-affirmative> of pﬂ’\iﬁ“ g2 (investigate, check up, examine)
* [plain-style-past] © = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~

and | tell you what happened /
ZUL7c5. =then/

ERR
ZEI%Z DTz IE5 DY =the one which they named + A <subject particle>
* ZB1% DUFfc = named, gave a name = <plain-style-past-affirmative> of &8i% DIF £ 9

g2 (name, give a name)
* [& 2 = direction <often used to indicated the thing which you chose between two items>

&y

ILTD E}jhj;‘ = the way that milk comes out, how milk comes out + % <subject particle> /
& Mo fc = was good = <plain-style-past-affirmative> of L\ULNT T (be good) /

* k12 = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun]
da’becomes ‘na’.)] AL T =...... , | wonder ; ...... , | doubt ; ....., | want to draw your
attention ; ....., | want to emphasize ; ....., | really want to say so ; because ...... — A can
be changed to @. /

> 7T, = & <quotation particle>

* - 7C at the end of the sentence is often used to mean, ‘I hear that ~, | heard that ~,
‘They say that ~, People say that ~’, (X) say that ~’. //

| heard that they examined how the cow which they named and raised produced milk, and
how the one which they raised without giving a name did so in the study of a certain

university, and then the one which they named produced more milk. &




&3 ? = Ah? <word used to express a variety of emotions (delight, relief, surprise or
contempt)>

=

EZ

ZEi%E DIFhiL =if (X) name (give a name)

* DlFNlE = conditional-form of D(F &9 g2 (attach) /

%‘%;ﬁ\ = attachment (affection, love) + A% <subject particle> /

i% LT, =189, £ULT. =increase and ...

159 = <plain-style-nonpast-affirmative> of 3& L £ 9 g1 (increase) /

W5 W5 =various /

1}&%%’& 93 &SI %3 = <plain-style-nonpast-affirmative> of tH55Z2 92 K SIC BmD F
9" =reach the point where (X) take care of (look after) ~

* {55 % 9 % = <plain-style-nonpast-affirmative> of tf55% U &£ 9 g3 (take care of, look

after)
* [dictionary-form] & 3 IC 7& D F¥9 = reach the point where (X) do ~, (X) come to do ~

* [nai-form 7&\L\ — 72 <] %% D £ = reach point where (X) don’t do ~ /

M5 12 = plain-style of h*5 T9 = because ~

> T, = & <quotation particle>

* - 7C at the end of the sentence is often used to mean, ‘I hear that ~, | heard that ~,
‘They say that ~, People say that ~’, (X) say that ~’. //

| heard that if you give a name to it, your love for it will increase and you will reach the
point where you take care of it in many ways.

Z> =s0/

9 % = <plain-style-nonpast-affirmative> of L& 9 g3 =do/

&. =....and naturally (consequently) ~ /

— €5 9% & =then, therefore, having done that, if that is done, if it is done in that way /
ZEOJ A~ LAD = the stress of a cow + H¥ <subject particle> /

H>T =Ho7o £LT. =decreasedand ...

* > = decreased = <plain-style-past-affirmative> of J& D £ 9 g1 (decrease)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’.
And it is sometimes used to show reason as well. /

LD E}jhj;‘ = the way that milk comes out, how milk comes out /

H =also/

& < 7x > fz = became better



* 7& o fc = became = <plain-style-past-affirmative> of 72D £J g1 (become)

* [stem of i-adjective] < 7D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D ¥9 = become [noun] /

> T T = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of [na-adjective] da’
becomes ‘na’ and ‘da’ of ‘[noun] da’ become ‘n0’.)] > T LIFTI =& WD DIFTT

= e , the things goes like that ; ........ , the things happen like that (N2 No.111B) //

Then, the stress of a cow decreased and the way that the cow produced milk became
better. The things happened like that.

F:
Do =HmMmM ... //

M:

feh5. = so, therefore /
ELS

ZE =you/

H =also/

Yo T H#c5? =plain-style of > T #fc5 £S5 TIH =why don’t you try to do it? ; |

suggest to you that you should try to do it.
* P 5 T Hfc = <plain-style-past-affirmative> of ¥ > T #F 9 (try to do ~)

*DFXI =1do 2 (superior) give (inferior)

* [te-form] #E 9 = try to do ~, do ~ and see how

* [plain-style-past] 5 &> T9Hs =Whydont you do ~? ; Why don’t we do ~? ; How
about doing ~7 ; | suggest to you that you should do ~. <suggestion> //

Therefore, why don’t you try to do it?

L

'.t = What? ; Really? (used to express surprise) /

Zg;ai = a cow + Z <direct-object particle> /

’E%'B = <plain-style-nonpast-affirmative> of ﬁ%b\iﬁh g1 (keep, rear, raise) /

@ ? = plain-style of ‘[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] ® T

9D =....., | wonder? — @ can be changed to A. //

What? Do | raise a cow?



M:

RERR

ZHITZ &o =1mean, ‘name’.

* [na-adjective, noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T9’ =

is (are, am) /
&Ko =...., you know?; ..... | tell you. ; ....., | am convinced. //

9 < = immediately /
i by
HIE » S = <plain-style-nonpast-affirmative> of TN E» WX T = ,M”LT LEWET =

to one’s regret, (X) forget
* [te-form] L E WX J g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely

~te shimaimasu— ~ chaimasu
*~de shimaimasu— ~jaimasu/
h TU &. = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘[na-adjective /

noun] da’ becomes ‘na’. )] AL T9=...... , | wonder ; ...... , | doubt ; ..... , | want to draw your
attention ; ....., | want to emphasize ; ....., | really want to say so ; because ......
+

7K = water /
% D, =togive, giving
* % = <plain-style-nonpast-affirmative> of D &9 =1do 2 (superior) give (inferior)

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). //

You forget to give water to it immediately (soon, very easily), right? | really want to say so.

b&(z
& |& = acow and a plant + & <top|c partlcle>/

N
.

(o ¥

> = <plain-style-nonpast-affirmative> of Eb\i’é“ g1 = be different, be wrong /
=

Kb 9 B = <plain-style-nonpast-affirmative> of —»%(75\) L X9 =feel that ~/
l7&. =1but 2 <used to show a hesitation> /

FbL>3

HH L\ = <plain-style-nonpast-affirmative> of EIEH WL\ T = (X) is interesting /
o =....,isntit?; ....., am | right? <confirmation particle> //



| feel that a cow and a plant are different (about that matter), but it is interesting.

PoT HK=PP>T HEKD =let'stryto doit, | shall try to do it.
*DFXI =1do 2 (superior) give (inferior)

* [te-form] #E 9 = try to do ~, do ~ and see how

* [volitional-form] = lesson polite than ‘~ X U & S (let’s do ~)’

* The volitional-form is also often used to show the speaker’s will.
* We often leave the last 5 of the volitional-form such as L\ Z and /=X & to be more

casual. //

| shall try to do it.

1‘1_ Dtz Tﬁ'&z% (The woman) changes the soil of a plant.
n m
* #4Z % = <plain-style-nonpast-affirmative> of #2X. £ 9" g2 = change //

2
5L Th LB
40 LY D HA% $HX% = (The woman) examines the way that milk comes out,

examine how (a cow) produces milk
* FH\% = <plain-style-nonpast-affirmative> of /XX 9" g2 = examine, investigate, check

up //

w
2

BER

iz &80% D135 = (The woman) gives a name to a cow.
* D% = <plain-style-nonpast-affirmative> of D} &9 g2 = attach //

WY &Bi% DIF% = (The woman) gives a name to a plant. //

J={V:IES B HKEV BAB H<ENL 1373

KETEDODZEEAE TOFEEMNFELT LWET, =A male student and a female student are

talking at the university now.



BE
==

Z HAKEW RIT
BOREF COHE @{%Z ULEIH, = What will the male student do after this
conversation?

M:

HD>S. =Errr..., Excuse me, /

AW

55E, = senior (at work or school), superior, elder, older graduate, progenitor, old-timer /

50WLwS> FAZE®SEF>TED

FED W5t FF/OD Z & T =because of the thing about the meeting for reading research

papers which will be held next week
* IffgT ¥ 3k = research publication, scholarly publication

* Eﬁj’%ﬁéi% = meeting for reading research papers /

E%ﬁb\ = consultation + h' <subject particle> /

& % = <plain-style-nonpast-affirmative> of % D £ 9 g1 (there is ~, have, exist) /

AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A, T9=...... |

wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., |
really want to say so ; because ...... — A can be changed to .

Y =1but 2 <used to show a hesitation> //

| have something to consult with you about the meeting for reading research papers of
next week..........

F:
A~ ? =Yes? >used to express approval, especially in slurred or unclear speech (abbr. of

interjection "un")>

E>S =how/

U 7z = did = <plain-style-past-affirmative> of L &3 g3 (do) /

@ = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] D TI=...... , | wonder ; ...... , I doubt ; ....., | want to draw your

attention ; ....., | want to emphasize ; ....., | really want to say so ; because ...... — @ can
be changed to A. /

What'’s the matter, | wonder?



FWALD&S

Aot ERIHY = distributed material + ' <subject particle> /

X2 = (not) yet, still /

TE T 7L = TE T LR = be not complete, be not ready = <plain-style-nonpast-
negative> of T& 7T WX T (have already completed, be ready now)

* TZ X9 sg2=1cando, be ableto do 2 be ready, be completed, be finished

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
& H™ = among other things, such things as, or something like that, such as, like, as an

example of, like for example <used to cite an example>/
/i

The materials which you suppose to distribute are not ready yet or the thing like this has
happened?

WZ. =UWWWZ, =No,
Z 1 =that + [& <topic particle> /
DS

REH = yesterday /
7 h EDs  =somehow, anyhow, one way or another //

As for that, | managed to do it yesterday.

%Li\ = as a matter of fact, in fact, to tell the truth /

?‘%\ =1/

9 < [C = immediately, instantly, at once /

J@:b“') T U XS = <plain-style-nonpast-affirmative> of 5> T UFXWLWE T =to one’s
regret, (X) get nervous

* jf:?b‘\b &9 g1 =1rise,goup 2 getnervous/

AT, =hATY, LT,

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A4 T3 =...... |

wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... ) |
really want to say so ; because ...... — A can be changed to .

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call

them te-form of an adjective and a noun. To join adjectives, we also use te-form of an
adjective. And it is sometimes used to show reason as well. te-form of an adjective and a
noun can be used in either the nonpast sentence or the past sentence.



* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more
formal. /
2
— EAN>T ULES AT, =Igetnervous (and | really want to say so) and ... /
BF>T&>

FFN = presentation (announcement) + H' <subject particle> /
3B h 3B h
AL T = RETY, £LT. =be anxious (feel uneasy) and ..... //

To tell the truth, | get nervous very easily, so | am anxious about my presentation
and ...,you know ....

Z A7E D, =the thing like that /

fonfc o7T =7fh TH =any person, no matter who you are /

gégﬂg T2 BbA=FFRKTD bA £=%8EFET S HD £ = <plain-style-nonpast-affirmative>
of ZERI 5 H D TI =itis natural (common) that (X) get nervous

* X8R 9" % = <plain-style-nonpast-affirmative> of 258 L £ 9" g3 = get nervous

* [plain-style (but ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes
‘no’.)] DT =itis natural that ~, it is common that ~ (N2 No.110B) /

&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

Regarding the thing like that, anyone gets nervous.

& Eh <. =anyhow, at any rate, anyway, somehow or other, generally speaking, in any
case /

?ﬁﬁﬁl% = many times /

%%%L‘C ={EE I %, £LT. =practice and ....

* $RE 9 % = <plain-style-nonpast-affirmative> of &% L £ 9 g3 = practice

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’.
And it is sometimes used to show reason as well. /

ébé% DIFB LD &\ = <plain-style-nonpast-affirmative> of B§%& 275 ULh H D X
A = have no choice except for gaining confidence

* D % = <plain-style-nonpast-affirmative> of D} &9 g2 = attach

* [dictionary-form] UL A 8 D £ A = there is no other method (way) except for doing ~,
have no choice except for doing ~, must do ~ /

* A U 720\ = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A U ¥ 7%k
L\ = <plain-style>of ... L U D XEAD =....., | wonder, don’t you think so? ; ....., |
wonder, | want to confirm with you — A can be changed to @. U ¥ can be changed to T

(=



Anyway, you have no choice except for practicing many times and gaining confidence, |
wonder, don’t you think so?

ZhhH. =well yes, actually, now that you mention it, well, in fact /

FhZ> H A=

Ffg% Mg 9 % < 5\) =to the extent that | memorize the manuscript

* l¥5C 9 % = <plain-style-nonpast-affirmative> of f&5C LU £ 9 g3 = memorize, remember,

learn by heart, commit to memory

* [plain-style-nonpast (but ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’
must be omitted.)] < 5\ =to the extent that ~ (N2 No.23A) /

nALr>

& L ATY = (X) practiced, and | really want to say so

* #8& U fz = practiced = <plain-style-past-affirmative> of & L £ 9 g3 (practice)

* AT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] AL T9I =...... |

wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , |
really want to say so ; because ...... — A, can be changed to @. /

H. =1but 2 <used to show a hesitation> //

In fact, | practiced to the extent that | memorize the manuscript, but

FAEA

AZET [&. =when (X) actually do ~ + |& <topic particle>
* K% = the actual performance /

HlcE

5BHY = head + H' <subject particle> /

*x L3
E > H = pure white /

]
D 5 T =187D 5 TI, LT, =itlooks like that (X) become ~, it is going to
become ~ and ...... , it is likely to become ~ and ......

* [masu-form / stem of i-adjective / stem of na-adjective] > T9 =it looks like that ~,
(X) is going to do ~ at any moment /

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call

them te-form of an adjective and a noun. To join adjectives, we also use te-form of an
adjective. And it is sometimes used to show reason as well. te-form of an adjective and a
noun can be used in either the nonpast sentence or the past sentence. * In addition to
‘[stem of i-adjective] < T’, [stem of i-adjective] <’ is also used to be more formal. //

when | actually make the presentation, it looks like that my brain is going to blank
and ....you know? ....



$:‘= you might say /
%t’ﬁ%‘ti = manuscript + & <topic particle>/
E%/u’(“% LWL = <plain-style> of HtATH LTI =may read, it is OK to read
* [te-form] H WLWLWTJ =may do ~, itis PKto do ~ /
A T2 = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] L T =...... , | wonder ; ...... , I doubt ; ....., | want to draw your
attention ; ....., | want to emphasize ; ....., | really want to say so ; because ...... — A can
be changed to @. /
M5, =because ~/
%V’;; IC = perfectly /
EZ@ <TH W = <plain-style> of BRZ %< TH LTI =don’t need to memorize,
don’t have to memorize
= | "X F¥9J g2 = memorize, remember
* [nai-form &L = 12 < T] H LWWWTTF =don’t need to do ~, don’t have to do ~ /
> T, = & <quotation particle>* > T at the end of the sentence is often used to mean, ‘I

hear that ~, | heard that ~’, “They say that ~, People say that ~’, (X) say that ~’. //

You might say, because it is OK for you to see the manuscript, | tell you that you don’t
have to memorize it perfectly.

Zh & D. =apart from that, other than that, leaving that aside, more ... than that, but,
however/

Lo&E 3%7?:7

B L\A—( at the question and answer session /

ERTR féF'nﬁb\ = what kind of question + »* <subject particle> /

-

1 % = <plain-style-nonpast-affirmative> of T&X 9" g2 = appear, come forth /

[[plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.’)] H* = <used to show an

indirect- questlon>
£Z>

FHEU T, ?',uﬁ'% % LT, = anticipate and ..
* 389 % = <plain-style-nonpast-affirmative> of 18 U £ 9 g3 = anticipate, forecast,

expect, predlct/
aIL—2 3> ULTEWELIED D LW = <plain-style-nonpast-affirmative> of > 1 X

L—>3> LT HEWEIEDS D WWTT = had better simulate beforehand
*a23IL—23 Y UFT g3 =simulate

* [te-form] & E F 9 = 1 do ~ beforehand (in advance) 2 do ~ for future convenience

3leave ~ asitis



* [ta-form] (£S5 A LWWTT = had better do ~ /

NE =DH LN = <plain-style> of I L7V, = [plain-style (but, ‘da’ of ‘[na-
adjective / noun] da’ must be omitted.)] ™% U1 & A = may do ~, maybe do ~ /
o =....,isntit?; ....., am | right? <confirmation particle> //

Leaving that aside, you had better anticipate what kind of question appears at the question
and answer session, and simulate it beforehand.

Zohe =ZF DD, =<plain-style>of €5 TITHh, =11see. 2Isthatso?//

&I = in a moment, shortly, at once, instantly /
%) ® (& =to answer, answering + (& <topic particle> /
Z % = <plain-style-nonpast-affirmative> of & X £ 9 g2 = answer, reply
* Here no’ is used to make a noun phrase (to change a verb to a noun). /
%’E L WTY9 H A =because (X) is difficult
* [plain-style or polite-style] £ ® (or H A to be more casual) = because ~ (N2 No.171)
o =....,isn’tit?; ....., am | right? <confirmation particle> //

Because it is difficult to answer instantly, isnt it?

S%. =0h, my goodness, /

%%‘? = more and more increasingly /

BR LT E/c, = started to get nervous = <plain-style-past-affirmative> of R U TE X
9 (start to get nervous)

* [te-form] & E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3.

(with the past tense,) have been doing ... so far //

Oh, my goodness, | started to get nervous more and more.

WL &58 WL &58 WL &58

KK, = KK/, = <plain-style-nonpast-affirmative> of AXK T = Itis all right.
* We often leave out ‘2’ in ‘[na-adjective, noun] 72’ which is the plain-style-nonpast-
affirmative of ‘{na-adjective, noun] T9". //



LA FhE®S
B0 fFERT—<IC DWT (&, = about (regarding, concerning) one’s own study theme +

Li oplc particle> /

Qﬁj\b‘ = oneself + A <subject particle> /

E%ct < =most well

* & < =well, often = adverbial-form of L)L\ (good) /

%\75\3 T % =72H > 7T W3 = <plain-style-nonpast-affirmative> of 20 > T WX T =

understand <situation, state>
*HD £9 g1 = understand

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
* 12 = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘{{na-adjective / noun]
da’becomes ‘na’.)] L TY=...... , | wonder ; ...... , I doubt ; ....., | want to draw your
attention ; ..... , | want to emphasize ; ..... , | really want to say so ; because ...... — A can
be changed to M./

M5, =because ~ //

Because you are the one who understands your own study theme very well. &

U w». =if thatis the case, then/

-%<
B3, = at once, immediately, promptly, without delay, right now /

%’%%& = counter-plan, countermeasure, action which opposes or counteracts another
measure + Z <direct-object particle> /

:‘F%o T =%, =knead beforehand

* ﬁ?ﬁb %9 g1 =knead

* %%% 8D £ 9 = work out countermeasures, elaborate countermeasures

* [te-form] £ & X9 =1 do ~ beforehand (in advance) 2 do ~ for future convenience

3 leave ~ asitis //

Then, | work out countermeasures right now beforehand.



FWaAULbh&s WAED

et &Rl % EIRI9 % = (The male student) prints the materials which he distributes.
* FIRI9 % = <plain-style-nonpast-affirmative> of Efl L & 9" g3 = print /

BoV&5&5 FhI> L SE0n

& O Rfs% {81E9 % = (The male student) corrects the manuscript which is used for

the presentation.
*{81IE9 % = <plain-style-nonpast-affirmative> of 1€1E U £ 9" g3 = correct, make right,

adjust, modify /

3

FoT&5&5 FAZTS

REx BD Rz Ha ;.E"é’%) (The male student) memorizes the manuscript which is used

for the presentation.
%209 % = <plain-style-nonpast-affirmative> of f&5C U £ 9 g3 = memorize, remember,

learn by heart, commit to memory /

4
bF’J'__%/u £ %5 pmhﬁ
Bz ¥ UT#fHI % = (The male student) anticipates questions and prepare for
them.
£ Z5
*FRU %,u\’é’% % L. = anticipate and ..

* %U?é <plain-style-nonpast-affirmative> of 78 L £ 9 g3 = anticipate, forecast,

expect, predict
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’.

And it is sometimes used to show reason as well.
* #4559 % = <plain-style-nonpast-affirmative> of #{& L & 9" g2 = prepare /

43
ANAYVEC) bE&ET V& BB V&

KT EDOANE TDAD nE LTW&ET, =Atthe company, the man and the woman are
talking together. //

BAR D&

7RIT
ZOANE D HE £9 fA%E ULARITNIE &b EFEAD, =First of all, what mush the
woman do after this conversation? //

1z 75 B

A& A, =Mrs Tanaka /
5 & o & = allittle, just a minute, short time, just a little /
LY = <plain-style-nonpast-affirmative> of L\L\T9 = be good /



WM&, = MVI& =[[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] H\7/& = ...... ,

| wonder?

Mrs Tanaka, may | have your time for a whole, | wonder? (may | talk to you for a while?)

=S

ZhE T h UbHW A
SEDOREIREDHE = the matter about the next exhibition /

% ATZ = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {na-adjective / noun]
da’becomes ‘na’.)] L TY=...... , | wonder ; ...... , I doubt ; ....., | want to draw your
attention ; ....., | want to emphasize ; ....., | really want to say so ; because ...... — A can
be changed to M./

[7E. =1but 2 <used to show a hesitation> /

AN AN
ziﬁ%?ﬁ) 5. = from the accounts (accounting) section (department) /

=] @Eﬂi? C. = by tomorrow morning /

45 o2& = more /

nib L\é#—l’i’ detailed material + Z <direct- object particle> /

.':I:'.JC{L Submit! Hand in! = imperative-form of ;':b' L %9 g1 (put put, submit, hand in) /

> T = & <quotation particle> * - 7T at the end of the sentence is often used to mean, I
hear that ~, | heard that ~’, ‘They say that ~, People say that ~’, {(X) say that ~’. /
%bh’(% = &N 7T L3 = <plain-style-nonpast-affirmative> of ST LWX T =be

being said now, be being told now
*EPNET =be said, be told = passive-verb of ELNE T g1 (say)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
A T2, = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘{na-adjective / noun]
da’ becomes ‘na’. )] AL TI=...... , l wonder ; ...... , | doubt ; ..... , | want to draw your
attention ; ....., | want to emphasize ; ....., | really want to say so ; because ...... — A can
be changed to @. //

Regarding the next exhibition, | am being told by the accounts department that we should
submit more detailed material by tomorrow morning.

% 1T = and, thereupon, because of that /



fa. =<l want to confirm with you.>/

%\b\ = <plain-style-nonpast-affirmative> of /8L \T39 = be bad /

A TZ = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] L T9=...... ,  wonder ; ...... , | doubt ; ....., | want to draw your

attention ; ..... , | want to emphasize ; ..... , | really want to say so ; because ...... — A can
be changed to d. /

[7E. =1but 2 <used to show a hesitation> /

& D29 =at once, first of all, for the time being, for now /

Lb &>
&% = material + % <direct-object particle> /

LE>S

ZF 2 = urgency, pressing, compelling /

oK<

E>T <172\ = (X) don’t make and he doesn’t give me a favor. ; (X) don’t give me a
favor. The favor is ‘making’. = <plain-style-nonpast-negative> of fE> T < NN EX 7 ((X)

make and he gives me a favor)
* [te-form] < 1 EX A D = could you please do ~ ?

M7%, =[[plain-style (‘da’in [na-adjective / noun] da’ must be omitted.)] h\/& = ...... |
wonder?

Because of that, | am sorry, but first of all can you make a material as soon as possible?

=dAN ﬁj\t)\Dibﬁ_o = Yes, | understood. Sure. /

ZHld, = this + & <topic particle> /

gﬁhﬁ% ﬁfséb’e‘ D gﬂaﬁi = the record of the meeting which was conducted last week
*¥I5 8 = business meeting, previous arrangement /

= % IC =based on ~ (N2 No.18)/

?’F%@“h ¥ & 3 U L\ = <plain-style-nonpast-affirmative> of {fERL T 1L K2 LWTT
which is more formal than fEEX 9 #1(E L\LWT T = should make

*fER T NiE = if (X) make = conditional-form of #E8% L £ 9 g3 (make)

* [conditional-form] L\W T 9 = should do ~ /

TU & DD = [plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] TU &
> h" is more polite than the question which ends the normal polite-style, and is often used

when you question your superior.
* Actually TU & © means ‘1 Probably ....... 2 e , right? //



Regarding this (material), should | make it based on the record of the meeting which was
conducted last week?

M:

S h. =Yes,/

% 3 IZ = <plain-style-nonpast-affirmative> of > T9 =be so/
o =....,isn’tit? ; ....., am | right? <confirmation particle> /

Yes, you are right.

S fenwteE
B&R7% Z & = concrete thing /

H =also/

| & A E = almost, mostly /

= =

R E o fc = was decided = <plain-style-past-affirmative> of }& % D £ 9 g1 (be decided, be

settled) /

M5, =because ~/

Zh %Z =that + Z <direct-object particle> /
[FAZW

RERE T, =less polite than RIRE BT < 72& L\ = please make ~ reflect
* RIRE X9 = make ~ reflect = causative-verb of RERU £ g1 (reflect, mirror) //

Because the concrete thing was also decided, please make it reflect.

F:
H
lFW. 20D E Ufe, =Yes, | understood. //

HD. =Err...

% AU

ATl £ TIZ, = by what time (should | compete it)? //

U

5K < 5\ ¥ TIT = by about (around) five o’clock

=D =)

$E 6D % = <plain-style-nonpast-affirmative> of $8) & 9~ (can ask to do, be able to ask to
f=®

do) which is the potential-form of F& X 9 g1 (ask to do)



M7, =[[plain-style (‘da’in [na-adjective / noun] da’ must be omitted.)] H\7/& = ...... |

wonder?

Can | ask you (to complete it) by about five o’clock, | wonder?

i =

% &f = this morning /

=D D

$E A T2 = asked to do = <plain-style-past-affirmative> of 84 £ 9 g1 (ask to do) /
L

f£= = work, occupation, labor, task /

— the work which | asked you to do /

D 1E5 & =the one which is chosen from two items + (& <topic particle> &
ES)
BL EWT H5>5TH LW = <plain-style-nonpast-affirmative> of ELN EWT H 55T

H LWWTT = (X) put ~ beforehand and (Y) may receive a favor from (X)

* %L\ EEFXT =BT BZXT =put ~ beforehand

* [te-form] £ & X9 =1 do ~ beforehand (in advance) 2 do ~ for future convenience
3leave ~ asitis

* ~ te oki masu — ~ to ki masu

* ~ de oki masu — ~ do ki masu

*BEW EWT H50LWET = (X) put ~ beforehand and (Y) receive a favor from (X)

* [te-form] H 5 WX T = (X) do ~ and (Y) receive a favor from (Y)

* [te-form] H LWL\TT =may do ~, it is OK to do ~

U. =|[plain-style] L. =~ and ~, because ~, ~ what’t more ~, not only ~ but also ~
<often used to list reasons>/

%\U) U/\ttz = another person + [C <source particle>

§UI EHNT H55TH LW = <plain-style-nonpast-affirmative> of 53| EfEWVWT £5-5TH

LWWT Y = (X) take over and (Y) may receive a favor from (X) &

* 5| ZHEE 9 g1 =take over, hand over

* [te-form] H 5WLWEX T = (X) do ~ and (Y) receive a favor from (Y)
* [te-form] H WLWL\TI =may do ~, it is OK to do ~ /

M5, =because ~ //

Regarding the work which | asked you to do this morning, you may leave it (I may receive
a favor from you. The favor is ‘leaving the work’.) and what’s more another person may
take over it (You may receive a favor from another person. The favor is ‘taking over the

work’.), so ...... &

Regarding the work which | asked to do this morning, you may leave it, or you may have
another person take over it, so .....



TbH =but/

F’dbw)v)\t I = another person + |C <recipient particle> /

%E?B = <plain-style-nonpast-affirmative> of #d* &% 9 g1 (ask to do)

& = ... and naturally (consequently)

M A>T = on the contrary /

Hb#hﬁ% H Hhhv % = <plain-style-nonpast-affirmative> of BffEHY MDD X9 g1 =it takes a
time to do ~

é: <quotation particle> /

UM?@“ = think /

DT, =|[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M T = because

* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style

to be more formal. /
HE
#“TYDEI, =dolater//

But, if | ask another person to do it, on the contrary, | think that it will take a lot of time to
complete it, so | will do it later.

U v d. =ifthatis the case, then /

%\L\ = <plain-style-nonpast-affirmative> of 7/2\L\T3 = be bad /

I7E. =1but 2 <used to show a hesitation> /

%{, = <plain-style-nonpast-affirmative> of $8# X 9 g1 = ask to do ~ /

&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

Then, | am sorry, but | will ask you to do it.

AR e S<EW

RETERIC H:':"é" ﬂ%ﬂ’lfﬂ"é"% (The woman) makes the material which she submits to the

accounts section.



* 9" = <plain-style-nonpast-affirmative> of i L &9 g1 = put out, submit
*{ERL 9 % = <plain-style-nonpast-affirmative> of YfEBX U £9 g3 = make //

2
RGN

> » ERERS
FIsEht O k% 1ERT % = (The woman) makes the record of the meeting.

* business meeting, previous arrangement
*{ER 9 % = <plain-style-nonpast-affirmative> of YfEB U £9 g3 = make //

3

Iz o Lzt

SE fEENT £E% 9% = (The woman) does the job which she was asked to. &

2] fe®
* FaE 117z = was asked to do = <plain-style-past-affirmative> of £ 1. £ 9 (be asked to
do) which is the passive-verb of F& X3 g1 (ask to do)
* 9 % = <plain-style-nonpast-affirmative> of L &9 g3 =do //

>h&> Lo [0} >
AfRIC {1 %Z 5| Z# < = (The woman) hands over the job to her colleague (coworker).

2 [

[ >
* 5| ZHR < = <plain-style-nonpast-affirmative> of 5| E#£ =% 9 g1 = take over, hand over //

5%
ThWA ThBE&£S (&7

LAKNZYTEEE ERM FELT WEXT, =Atthe restaurant, a shop assistant and a
shop manger are talking together.

ThAWA

R
JEEIF <D H& < A% LRTniE b £ AH. =What must the shop assistance
do right after this conversation?

M:
HD, =Errr ...,/

ThE54&5

[ER. = shop manager/
5 Eel’s
BHUSRB D EFHE Ao =1am sorry. //

k. —% = coffee + & <direct-object particle> /
EES

% 1O— K IC = customer’s overcoat + |C <recipient particle> /

|



ZIEFUL B » o fc =to one’s regret, (X) spilt = <plain-style-past-affirmative> of Z (XL 5 » L)
£ 9 which is more casual than ZIFULT ULZXWZXT (to one’s regret, (X) spill
*ZIEULEXT g1 = spill

* [te-form] UEWEJ g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely
*~te shimaimasu— ~chaimasu

*~de shimaimasu— ~jaimasu/

AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] L T9=......, |

wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , |
really want to say so ; because ...... — A can be changed to .

. =1but 2 <used to show a hesitation> //

L

? =What? ; Really? (used to express surprise) //

5 v A & = properly, perfectly, exactly /

D) E?’:U“ U 7= = apologized = <plain-style-past-affirmative> of & E%U“ L &£ 9 g3 which is
the humble-verb of E?EUE@“ sg2 (apologize)

* & [masu-form] U FX 9 g3 = humble-verb

/i

Did you apologize properly?

¢, =ifthatis the case, then/

d— k& = overcoat + (& <topic particle> /

5 v A & = properly, perfectly, exactly /

& ﬁt% L 72 = wiped = <plain-style-past-affirmative> of & = U £ 9 g3 which is the
humble-verb of ﬁ'ﬁ% F9 g1 (wipe)

** & [masu-form] U ¥9 g3 = humble-verb /



2

Then, did you wipe (the overcoat) properly?

M:

[FLN, =VYes,/

2

ES U 4L T, =by means of a wet towel, with a wet towel
Y

* =

A
yE 5 U o = wetted = <plain-style-past-affirmative> of j&5 U £ 9 g1 (wet, soak, dip) //

fcf2. =1but 2 free of charge /

d—k—7Z = <plain-style-nonpast-affirmative> of 11—t —7T9 = (X) is coffee /

M5 = because ~ /

3[;’%5’7* = stain, spot, discoloration, smudge /

(c/

IBRDEFST, =180 £57TY, £ULT. =itlooks like that (X) become ~ and ....., itis
likely that (X) become ~ and .....

* [masu-form / stem of i-adjective / stem of na-adjective] > T9 =it looks like that ~,
(X) is going to do ~ at any moment /

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call

them te-form of an adjective and a noun. To join adjectives, we also use te-form of an
adjective. And it is sometimes used to show reason as well. te-form of an adjective and a
noun can be used in either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < 7T’, [stem of i-adjective] < ’is also used to be more

formal. //

But, (what | spilt) is coffee, so it looks like that it becomes a stain, so ......

F:
% D, = <plain-style-nonpast-affirmative> of > T9J hH\, =Isthatso? ;| see.//

TZENIF =if possible /
Z 55 T =at this place, in this place /
J— k% = overcoat + Z <direct-object particle> /



»Y
EEMD Uz & 23 £ = <plain-style-nonpast-affirmative> of & FEND L =L & Z
% T =Ilamin the state that | want to keep it
»Y 59
*& MDD UFXTI =humble-verb of FEHN D F£9 g1 (keep, look after, take care of, hold on

to, keep in custody) /
[7E. =1but 2 <used to show a hesitation> /

£ 2

O

S HId = today + |& <topic particle> /
X3 X3
ZE\\ = <plain-style-nonpast-affirmative> of £\ T9 = be cold /

U = [plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also
~ <often used to list reasons> /
Ro =....,isntit? ; ..... , am | right? <confirmation particle> //

i v &, =if that is the case, then /

7U—= ‘/7?}: = the charge for cleaning /

?‘x“tf“; later /

%%L’C W/elEZEFX U &£ 56 = (X) claim, and we shall receive a favor from (X)

* [te-form] LW/c 72 & ¥ 9 = more polite than [te-form] £ 5 WX J = (X) do ~ and (Y)
receive a form (X), (X) have (Y) do ~/

*~ FXU&D =let'sdo ~, we shall do ~, | shall do ~ //

Then, we shall have the customer claim the charge for cleaning later.
Then, we shall receive a favor from the customer later. The favor is ‘claiming the charge
for cleaning’.

f) L =if/

%5 rh o fc5 =if (X) don’t drop (fall)

* SEB1ah o T2 = <plain-style-past-negative> of 585 & 9 sg2 (fall, drop)

* [plain-style-past] © = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~

and | tell you what happened /
— if the stain doesn’t disappear, /



NAL &S NAU &S

FE-TZE = #E &ULWS Z & =the thing like ‘compensation’, the fact that (X)

compensate
*(X) EWD (Y) =(Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement

the contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
H =also/

3 % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 (there is ~, have, exist) /

U. =|[plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but
also ~ <often used to list reasons> /

%%é?‘éf: |7 |& = only a contact address, at least a contact address + (& <topic particle> /
%h@“t: = without forgetting

* [nai-form 2L\ = 72\ T] = O [nai-form L\ — 9 (I2)] = without doing ~

Y ULBWT =879 (IZ), not LT (IC) /

* [nai-form 72U\ — 7% < T] = A [nai-form /2L — 9 (I2)] = don’t do ~ and .... <used to
join sentences>/ don’t do ~ and therefore <used to show a reason>

Y ULBWT =87 (IZ), not LY (i) /

D) ;f';h LT =less polite than & =12 LT <72\ = please ask

*H %‘;1’& U &9 = humble-verb of %bi? g2 = ask, enquire /

Ro =....,isntit?; ..... , am | right? <confirmation particle> //

If the stain doesn’t disappear, there will be fact that we compensate (and what’s more
other thing may happen), so please ask the contact address without forgetting at least.

F:

LU\ = <plain-style-nonpast-affirmative> of L\\L\Td = be good

@D = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] L T =...... , l wonder ; ...... , | doubt ; ..... , | want to draw your



attention ; ....., | want to emphasize ; ....., | really want to say so ; because ...... — A can
be changed to @.

&£, =....,you know?; ..... | tell you. ; .....,  am convinced. //

Z 1l = that + (& <topic particle> /

&*6%75“ = shop + H' <subject particle> /

9 % = <plain-style-nonpast-affirmative> of L& 9 g3 =do/

M5, =because ~ //

It is OK. (You don’t have to do that) because the shop will do it (the shop will take care of
it).

Fv

&. B<, =Come on, quickly.

O
i
N~
13
9t

Mz mzx
& I®D T 135 = <plain-style-nonpast-affirmative> of & &0 IC & D X9 g1 = (superior)

go home
* & [masu-form] 7& D £ 9 g1 = deferential-verb

%ﬁt: = before doing ~

* [dictionary-form] Eﬂ:t: = before doing ~ ﬂ

o) J%%L\ U £ 9 =1 ask your favor = humble-verb of J%,%\L\iﬁ“ g1 (wish, desire) /
o =....,isntit? ; ....., am | right? <confirmation particle> /

Before the customer goes home, please do it.

bzl
=1/
t =also/

9 < [C = immediately, at once /

%ﬁ% i ATE%T = go to apologize

* [masu-form] I TTZ X9 g1 =gotodo ~

* [masu-form] %i@“ g3 = come to do ~

* [masu-form] I ﬁ% N ¥9 g1 =go back (return) to do ~ /
M5, =because ~ //



| also go to apologize at once.

< 3
&0 d— b %Z & < = (The shop assistance) wipes the customer’s overcoat.
* 1 < = <plain-style-nonpast-affirmative> of {1 Z £ 9 g1 = wipe /

< 59
D d— k% ¥EH S = (The shop assistance) keeps the customer’s overcoat.
* ¥aH'5 = <plain-style-nonpast-affirmative> of JEH D £ g1 = keep, take charge of /

<
& D #Ei&ScZ =125 = (The shop assistance) asks the customer’s contact address

2125 = <plain-style-nonpast-affirmative> of &1aFX 9 g2 = ask, enquire /

Zwn 5

<
Tl 7YU—=—>7f% $L> = (The shop assistance) pays te charge for cleaning to the

customer.
* 355 = <plain-style-nonpast-affirmative> of $ALNE 3 g1 = pay /

BEl <A

Z D& Lw>H o)
SO TIVI—D EEEY Y —IC EBEELT WET, =The man is telephoning the
repairing centre for a printer. //

< Wo L & T

E‘ﬁ@%g T —E—HEIC % % SiRTNIE b £FEAD. = What must the man
send with his printer?

&L\, = Yes, (Hello,) /



BEtL>YY—TZ2WET, =This is the repairing centre.
* [na-adjective / noun] T &2 L K 9 = more polite than ‘[na-adjective / noun] T3 . This
is a kind of honorific expression.

K?L\Bﬁété

%5 50O FJ)Y—®D S 100 %Z =the printer S1OO of there (that way, your company)
ﬁo T W3 = <plain-style-nonpast-affirmative> of EDT L& 9 = be using now

* ﬁb\iﬁ“ g1 = use

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A4 T9=......, |

wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... ) |
really want to say so ; because ...... — A can be changed to .

e =1but 2 <used to show a hesitation>

ED KD & = more polite than &£ A 7% = what kind of ~, what type of ~ /
U &S
IREETUL &£ 5D = more polite way of asking JXR& T3 H = Is (X) the condition (situation,
circumstance, state)?
TU & DH% = [plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] TU &

> h is more polite than the question which ends the normal polite-style, and is often used

when you question your superior.
*Actually TU & 3 means ‘1 Probably ....... 2 e , right? //

What kind of state is it (your printer) in now?
What is your printer like now?
What is the problem of your printer?



Hcd

#FTLW > 0% =new ink + % <direct-object particle> /

ANTH. =even if (X) put

*ANFE T =put ~in, insert

* [te-form] © = even if ~/

1 ‘/7%%%%’: = exchange + %Z <direct-object particle> /

%b[l 51 % = <plain-style-nonpast-affirmative> of 15 £ 9 g1 = inform, notify /

gﬁé‘\\b\ 2> 7 =the red lamp /

— the red lamp which informs the replacement of the ink /

hH¥ <subject particle> /

9 > & = continuously in some state (for a long time, distance), throughout, all along, the
whole time, all the way /

Tﬁh%ji LTWT, ==BLT WET, £LT. =(X)is blinking now and ....

* BB L E 9 = blink, flush, flicker

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’.
And it is sometimes used to show reason as well. /

%gi = not at all (with neg. verb), wholly, entirely, completely /

Eﬁ%ﬁ’(“%fg L\ = cannot print = <plain-style-nonpast-negative> of EFllffll & £ 3 (can print,
be able to print) which is the potential-verb of Efill L &9 g3 (print)

A T9, =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A, T9=...... |

wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., |
really want to say so ; because ...... — A, can be changed to @. //

Even if | insert (set) a new ink, the red lamp which informs the replacement of the ink are
blinking all the time (keeps blinking) and | cannot print at all.

F:
ZS5TIh. =Isthatso? :Isee.//

W5hh FL&SE M ARBRW

1D RIEEABAT L5, =if (X) is within the term of guarantee (warranty period)
which is one year,

* [polite-style-past] 5 = more polite than ‘[plain-style-past] 5’ which means ‘if (X) do /
don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell you what happened’. /
EHh&>

#£81T = free of charge, for nothing, for free /
Lw>bhH
EEWZUE T, =humble-verb of I8 L £9 g3 = repair, fix



* & [masu-form] L7z UL X9 g1 = more polite than ‘& [masu-form] L &9 g3’ which is the
humble-verb

Lew>H :’)'_A:T/:
* We don’t use & for some verbs such fEX2U X9 and EEL X /

If the term of guarantee which is one year has not expired yet, we will repair it for free.

EH W

ZDFGIE. =inthat case, /

r?%béiéj Z = warranty (guarantee) + %z <direct-object particle> /
) %’é N W=7z < = <plain-style-nonpast-affirmative> of & XD WefEEFXI gl =i%k>7T
W/ef2Z X9 = (X) send and (Y) receive a favor from (X)
* & [masu-form] W72 E X T g1 = [te-form] W2 ZE X T g1 = (X) do ~ and (Y) receive
a favor from (X), (X) have (Y) do ~
Z & T 2D £, =[dictionary-form / nai-form] Z & IC &0 £ 9 =it will be decided that

~ it has been decided that ~ //

In that case, it will be decided that you send a warranty (and we receive a favor from you).
In that case, it will be decided that we have you send a warranty.

M:
H&b. =Ah,/

ZZ &, =let me see, let me think /

1HE B5&2& (T 7D KT =become one year plus a little more & /

o =....,isn’tit?; ....., am | right? <confirmation particle> /

Ah, let me see, one year plus a little more has passed after the date of the issue of the
warranty.

TH. =but/

FhelL FZ
FF 50 BT H = about half a year ago, also /
EoLAS U&>S7Wn

BU REICB>T=FU KREICZDFLE, £ULT. =(X) became the same situation

(condition, state, circumstance)
* [stem of i-adjective] < 72D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D ¥ 9 =become [noun]
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’.

And it is sometimes used to show reason as well. /



>

Lw>b
BELTHEE-T T =BELTHS->TWVT, =EBELTHE->-TWVWET, FUT.

= (X) repaired and (Y) received a favor from (X), and .......
“BE LT H5WVWET = (X) repair and (Y) receive a favor form (X)

“MEIE LT H 5> 7T LWET =<situation, state>

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~".
And it is sometimes used to show reason as well. /

ZD EED r%ﬁgﬂaﬁj % = ‘repairing record’ which (X) got at that time, also /

% D £9 =there is ~, have, exist /

[7E. =1but 2 <used to show a hesitation> //

But, (my printer) became the same situation about half a year ago, and | had it repaired
(they repaired it and | receive a favor from them), and | have ‘repairing record’ which | got
at that time......

feWAA b5 bl

ZHURSSTWEEA, =1am very sorry. //

ZN 7T, =if thatis the case, then /

%jl;l’f = free of charge, for free, for nothing /

héiééﬁ‘( LW/z72Z £9 =you let me repair and | receive a favor from you — | repair

* [te-form of causative-verb] WL\ fc 72 Z £ 9 = <can be used as the humble-verb> /

DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because ~
* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style
to be more formal. /

FL&SUL&

"MREEZ, % = warranty (guarantee) /

&<
KiED <fLET\L\, =please send
* & [masu-form] < 7Z2& L\ = [te-form] < 72& L\ = please do ~ //

Then, we repair it free of charge, so please send a warranty.



;hb\B\ = and then, after that /

gﬁgﬁéo)%éﬂ%é rﬁéféff;ééj = ‘the written request for repairing’ which can be found
at the end of the manual + = <direct-object particle>

* %% = <plain-style-nonpast-affirmative> of % D 9" g1 (there is ~, have, exist) /
Z?EKODJ: = after filling in (filling out, writing down) (N2 No.77A) /

Ty —& M—O%\%LC = together with a printer /

S %_é N <& W\, =please send

* & [masu-form] < ZZ2& L\ = [te-form] < 72& L\ = please do ~ //

And please send ‘the written request for repairing’ which can be found at the end of the
manual with a printer after filling in it.

M:

\rﬁéfégfﬁj £ = ‘the record for repairing’, also /

%’3 e IE5H WWTT = had better send

* ¥ o fc = <plain-style-past-affirmative> of X D &9 g1 (send)
* [ta-form] (E 5 HY LWWT T = had better send /

H\ <question particle> //

Had | better send ‘the record for repairing’ as well?
Is it better for me to send the ‘repairing record’ as well?

Z 1 |F =that + (& <topic particle> /

Z 55 | =this side + [T <existence particle> /

%Béﬁ%b“ %D X9 =thereis arecord /

DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because ~
* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style

to be more formal. /
7> 2579, =No, thank you. //

We have the record of that, so you don’t have to send it to us.



w50 W5 WU &
EIRMRFEZE = written request for repairing /



